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The 14" Hong Kong Mathematics Cup Challenge
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There are 716 fish balls, and each bamboo branch can string
6 pieces. To string together all the fish balls, how many

bamboo branches are required?
A. 118 B.119 C. 120 D. 121
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There are six dots 1in the figure below. If you want to
enclose a parallelogram, which four dots should you choose?
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A. ABCD B. ABEF C. BDEF D. BCEF

3. Tﬁm@l’\ﬁ F "LF'& ﬁf’*%;uléﬁ-r}\’g’\'f (P
What arithmetic symbols should be added to the following O
to make the formula hold?

20 O 55 O 6 = 350
A.x o + B. + » x C.x s - D.->x
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Which of the following items is about 5HL?
A. &= rice bowl B. F & stock pot
C. # ¥ teapot D. i# 42 bathtub
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